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Charge/mass forn=0, for a = R for p= T for €

When an electron of charge e and mass m is accelerated with a potential difference V volts. K.E. = eV

%mv2 =eV or v? _2ev

Total energy of third shell =

=—151eV

K.E. =—Total energy = 1.51 eV

PE.=2xTE.=-3.02eV

velocity in sec ond orbit(V,)
2nr,

Frequency of revolution =

_1.82x10° ms™
2x X (2.12 xlO’lO)m

=8.2x10" s
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80. Total number of spectral lines given by E[n -1xn=15;
n=6
Thus, electron is excited upto 6th energy level from ground state. Therefore,
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